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#include <stdio. h>
#include <netdb. h>
#include <stdlib.h>
#include <string. h>

int main(int argc, char *argv[]) {
int sock, accept_sock;
int ret;
char buf[256];
struct addrinfo *ai, *res;
struct addrinfo hints =
{AI_PASSIVE, AF_INET6, SOCK_STREAM
, 0, 0, NULL, NULL, NULL};
struct sockaddr_in6 peer;
int addr len_peer;
ret = getaddrinfo(NULL, argv[1],
&hints, &res);
if (ret 1= 0) {
fprintf (stderr, “getaddrinfo
(%s)¥n”, gai_strerror(ret));
exit(-1);
]

for (ai = res; ai; ai = ai—>ai_next) {
sock = socket (ai->ai_family, ai-
>ai_socktype, ai—->ai_protocol) ;
if (sock < 0) {
perror ("socket”) ;
exit(-1);
}

ret = bind(sock, ai—>ai_addr, ai-

>ai_addrlen) ;

if (ret < 0){
perror ("bind”) ;
exit(-1);

}

ret = listen(sock, 5);

if (ret < 0){
perror ("listen”) ;
exit(-1);

}

break




memset (&peer, 0, sizeof (peer));
addr len_peer = sizeof (peer);
accept_sock = accept (sock, (struct sockaddr *) &peer, &addrlen_peer);
if (accept_sock < 0) {
perror (“accept”) ;
exit(-1);
}
while (1) {
memset (buf, 0, sizeof (buf));
ret = recv(accept_sock, buf, sizeof (buf), 0);
if (ret < 0){
perror (“recvfrom”) ;
exit(-1);
}
printf ("%s¥n”, buf);
ret = write(accept_sock, buf, ret);
if (ret < 0){
perror (“sendto”) ;
exit(-1);
}
}
freeaddrinfo(res) ;
return 0;
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Linux%(ccx00)
- % ps -aux

Solaris
- % ps -efj

BSD%*

- % ps auxj

USER PID PPID PGID ............... COMMAND
nobody 123 89 89 ....ccceeeeeeen. httpd
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*argv)

{

struct sockaddr_in
me, peer;
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if(pid = fork()) ==
0) {
child
process.

}
else if(pid > 0) {
parenet
process.

}

else {

process.

}
}
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#include <sys/types.h>
#include <stdio.h>
#include <unistd.h>
int main(int argc, char *argv[])<{
int pid;
int number = 5;
char buf[1];

printf("original process id: %d\n", getpid());
printf("original parent process id: %d\n", getppid());

if( (pid = fork()) == 0){ /* child process */
printf("this is child process\n");
number += 10;
printf("number: %d\n", number);
printf("fork() return value: %d\n", pid);
printf("child process id: %d\n", getpid());
printf("child parent process id: %d\n", getppid());
} else if(pid > 0){ /* parent process */
printf("this is parent process\n");
number += 20;
printf("number: %d\n", number);
printf("fork() return value: %d\n", pid);
printf("parent process id: %d\n", getpid());
printf("parent parent process id: %d\n", getppid());
¥ else {
perror("fork()");
b

printf("number: %d\n", number);
exit(0);
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Int pid;

if( (pid = fork()) == OX
/* child process */

} else if(pid > O}
/% parent process */

} else {
perror(” fork()”):

|
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original process id: 21146

original parent process id: 20587

this is child process .
this is parent process

number: 15 Cumber 25

fork() return value: O : |

child process id: 21147 fork() return value: 21147

child parent process id: 21146 parent process id: 21146
number: 15 parent parent process id: 20587

number: 25
press enter
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- pid_t wait(int *status):
- pid_t waitpid(pid_t wpid, int *status, int
option):
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void sig_ child(int signo)

{
int pid, status;
while((pid = waitpid(-1, &status, WNOHANG)) > 0) {
printf(""PID: %d, terminated\n", pid);
]
]

int main(int argc, char *argv]])

d

signal(SIGCHLD, sig child);
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